115-028( A-130) (1/2)

115-028

cm
10|20
10(20|30
o 10 20 30 40 50 [
= 0.30 0.3 =
— AYAYAYAYA —
E (VAVAVAVAY] =
E NN =
= (VAVAVAVAY] =
NAAAN 4 4
VAV Ha151 5 7 E
Wy a 30 0l 4
AAAAN 1.45 =
(VAVAVAVAY] =
IARAYAVAWAY 3 3 —
(VAVAVAVAY] 2.15] 3 8 E
NAAAN =
\VAVAVAVAY] 30 30 3 =
IAYAYAVAWAY 2.45 —
A\YAVAVAVAY -
NN =
(VAVAVAVAY] 3.15] 2 2 =
IARAYAVAWAY A / —
(VAVAVAVAY] 30 0| 2 =
NAAAN 3.45 =
(VAVAVAVAY] =
JAVAVAVAWAY —
(VAVAYAYAY] 3 3
ANAAN 4.50 laas| 3 7 =
(VAVAVAVAY] 4 ol 4 =
IARAYAVAWAY 705 —
(VAVAVAVAY] = . =
NAAAN =
(VAVAVAVAY] =
ANAAN 5151 4 y E
(VAVAYAYAY] =
NAANI 30 0| 4 E
A\YAVAVAVAV 5.45 —
IARAYAVAWAY
(VAVAVAVAY] =
IAVAVAVAWAY 6.15|1.5 1.5 -
\YAVAVAVAY] 1/ / ]
NAAA N 30 30 | 1.5 =
6.60 6.30\/\/\ 575 3
Z— 7.15] 3 3 =
Z__ =1/ / =
7.40 0.8 30 30| 3 —
7.45 =
8.15| 3 3 =
/ / =
30 0| 3 =
8.45 =
8.80 1.4 \ =
0-0-0 =
e RteX 9.15| 36 36
Q5967 A 0] \‘\
OéOéO 9.45
05050 3
+0-0O- 65 65
Oéoéo 10.15| © v : e
Q5959 o 045 =
OéOéO =
0-0~0 11.15 5/0 5/0 =
“0-0O- =
0 070 30 30| 50 /4 E
e Rtex 11.45] =
11.80 3.000- 00O | _— 3

=
I
s
&
0o
ISANE)
BN

12.45 =
13.15 6 =
/ /
30 30 =
13.45 3
14.15 =

|

=

N

IS

&
PLLILLLL

14.70| 2.90 —

O'OOC')O \
0 0%0 |15.15] 71 71 -
0O - / / 3
09696 30 30| 71 T =
00> 15.45 =
05050 E
0-0-0 16.15/| 150 150 =
o tok =7 / AN =
0:0:0 30 30 | 150 =
0O~ 16.45 —
0:0:0 =
02624 i . E

ek 10 100

2505¢ 17.15| 19 9 =
05959 30 30 | 100 E
52894 17.45 =
17.90 3.2 0 O - e
- 18.15| 30 30 =
- == 7 / E
= 30 30| 39 '/ =
18.45 4
23 23 -
19.15| 2 / =
30 30| 23 =
19.45 4

N
1S) S
I =
[l o
0 N
‘O\m
W I
‘o\w
N
o

20.70)




N
=

N
N

N
[N

N
PN

I
A

N
>

20.70

26.22

5.52

30 30

20.45

21.15| 53 53

== 7/ /
30 30

21.45

2515|115 115

== /
30 30

22.45

2315 71 71

=== /
30 30

23.45

24.15| 68 68

=== /
30 30

2445

515 71 71

=== /
30 30

25.45

26.15| 68 68

=== /
30 30

26.45

115-028(
‘\

T~

A-130) (2/2

)

115

UoulLuou i




